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R1.4 ! 13.6 km

Mmax ! 2.3M!
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R = 12.71+1.14
−1.19 km

M = 1.34+0.15
−0.16 M!

R = 13.02+1.24
−1.19 km

M = 1.34+0.15
−0.14 M!
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Mmax " 2M!
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many-body uncertainty estimates
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6

But: existing predictions only provided 
rough estimates for the with-density-
growing EFT truncation error, and did 
not account for correlations
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Q = max

(
p

Λb
,
mπ

Λb

)
≥ 1

3
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yk = yref

k∑

n=0

cnQ
n δyk = yref

∞∑

n=k+1

cnQ
n

∆yn = yn − yn−1
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V3NV3N =

k3σ3τ3
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pr (Λb | D)
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kmax
F =

{
2.2 fm−1 PNM

1.7 fm−1 SNM
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x = kF

Q(kF) =
kF

Λb

Λb ≈ 560± 50MeV
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[

n0
E
A (n0)

]
≈

[
0.170
−14.3

]
Σ ≈

[
0.0162 −0.015
−0.015 1.02

]

�����
����������
��	�
���	
� 	
��
������������������	�������������

pr

(
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K = 9n2
0

d2

dn2

E

A
(n)

∣∣∣∣
n=n0
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pr(K | D) =

∫
pr(K | D, n0) pr(n0 | D) dn0

pr(n0 | D) ≈ 0.17± 0.01 fm−3

K = 260± 54MeV (Λ = 500MeV)

K = 292± 54MeV (Λ = 450MeV)

�

���
�	
���������������
����������������
����
��� �
�
�����
����� �����
�
��
��������������
����
��
�
��� ���

� ������	��

�����������

�����������������������������������������
�����
� � ������������������� 
	



���

�����������
�����������������������
��	����
�������������
�����������

�����������������
����������
�������������������	�������������

�����������	��
���

��
�����
�� �����)&$'(� "��	���������������	�	
�	

S2(n) ≈
E

N
(n)− E

A
(n)

ESNM ∼ N
(
µ,σ2

)
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EPNM ∼ N
(
µ,σ2

)
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µS2 = µPNM − µSNM

σ2
S2

= σ2
PNM + σ2

SNM

− 2σPNMσSNM ρ

−1 # ρ # +1
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S2 ∼ N
(
µS2 ,σ

2
S2

)
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S2(n) ≡ Sv +
L

3

(
n− n0

n0

)
+ . . .
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pr(Sv, L | D) =

∫
dn0 pr(S2, L |n0,D) pr(n0 | D)

pr(n0 | D) ≈ 0.17± 0.01 fm−3
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[
µSv

µL

]
=

[
31.7
59.8

]
Σ =

[
1.112 3.27
3.27 4.122

]
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[
µSv

µL

]
=

[
31.7
59.8

]
Σ =

[
1.112 3.27
3.27 4.122

]

Sv = 38.1± 4.7MeV

L = 105.9± 36.9MeV
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Rskin

(
208Pb

)
= 0.283± 0.071 fm
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R
(
208Pb

)
= 0.18+0.04

−0.04 fm

Sv = 34+3
−2 MeV L = 52+20

−18 MeV
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